2 RERT-AIVTRERR

ESiES EEth &R (Ba/kg)
NO Eth #wm | mEme | e | RS % iy E BEH GaE | BRR ER % | wokoise| wokee
1| RBBEZRIVT | (BER) BER AJIET FERE R — SR 4+H EERREREEVY— Ge H23.12.20 | H23.12.20 <18 <12 <80
2 | BBRREZAUVY | (EER) EER aJIEr FETRIE — SR A EEREERELLS— Ge H23.12.20 | H23.12.20 <59 <18 6.7
3 | BEBRE=SILT | (BBR) BER BINET | SESRES — - On L3 BERBERE LS Ge H23.12.20 | H23.1220 | < 6.6 <9.0 <88
4 | BBREZAUVY | (BER) EER aJIEr IR — SR 45 EEREERE L S— Ge H23.12.20 | H23.12.20 <57 20 19
5 | REBE=4ULY | (BER) BBR BIET | SESRES — - On L3 BERBERE LV Ge H23.12.20 | H23.1220 [ < 7.9 <9.7 <93
6 | REBE=SILT | (BBR) BBR BINET | SESRES — - On L3 BERBERE LYY Ge H23.12.20 | H23.12.20 | <54 <83 <84
7| BRFEZAULY | (BER) EER aJIEr FERIE M — SR A EEREERE L S— Ge H23.12.20 | H23.12.20 <63 <16 1
8 | BBRRE=AUVY | (BER) EER aJIEr FERIE — SR A EEREERE L S— Ge H23.12.20 | H23.12.20 <57 85 1
9 | REBRE=SILT | (BBR) BBR BINET | SESRES — SR L3 BERBERE LV Ge H23.12.20 | H23.1220 [ < 6.9 <9.1 <83
10 | REBFE=4ILY | (BER) BER AIIET IR — SR 45 RERREREEVY— Ge H23.12.20 | H23.12.20 <58 <80 9.4
1" | REFE=4ILT | (BER) BER AIIET IR — SR 45 RERREREEVY— Ge H23.12.20 | H23.12.20 <718 <91 7.7
12 | REBFE=4ILY | (BER) EER LWhEM | FRER — SR 4+A RERREREEVY— Ge H23.12.20 | H23.12.20 <79 <94 <74
13 | RABFE=4ILY | (BER) EER LWhEM | FRER — SR 4+A ERERREREEVY— Ge H23.12.20 | H23.12.20 <65 <17 <82
14 | REBFE=2ILY | (BER) EER WhEM | FRER — SR 4@ RERREREEVY— Ge H23.12.20 | H23.12.20 <72 <92 <83
15 | RABFE=2ILY | (BER) EER WhEM | FREmMR — SR 4+A RERREREEVY— Ge H23.12.20 | H23.12.20 <66 <741 <638
16 | RAFE=2ILT | (BER) B’ER FHAET | EREH — SR 45 RERREREEVY— Ge H23.12.20 | H23.12.20 <638 24 29
17 | REBFE=2ILT | (BER) BER BT | EREH — SR 45 RERREREVY— Ge H23.12.20 | H23.12.20 <13 26 29
18 | RABFE=QILY | (BER) BER &I ET FERE R — SR 45 RERREREVY— Ge H23.12.20 | H23.12.20 <59 <81 <66
19 | REFE=4ILY | (BER) BER &I ET FERE R — SR 45 EERREREEVY— Ge H23.12.20 | H23.12.20 <83 <96 <81
20 | BRERE=SYLY | (BER) BER &I ET FERE R — SR 45 RERREREVY— Ge H23.12.20 | H23.12.20 <61 <64 <15
21 | BRRE=4YLY | (BER) BER &I ET FERE R — SR 45 EERREREEVY— Ge H23.12.20 | H23.12.20 <59 <13 A
22 | BRRE=SYLY | (BER) BER & JIET FERIE M — SR 45 EERREREVY— Ge H23.12.20 | H23.12.20 <13 <93 <84
23 | BRRE=4YLY | (BER) EER Al FERE R — SR 45 EERREREEVY— Ge H23.12.20 | H23.12.20 <18 <11 <170
24 | BRERE=SYLY | (BER) EER Al FERE R — SR 45 EERREREEVY— Ge H23.12.20 | H23.12.20 <61 <91 <68
25 | BRRE=4YLY | (BER) EER KEH FERE R — SR 4+A EERREREEVY— Ge H23.12.20 | H23.12.20 <18 <90 <85
26 | BRERE=4YLY | (BER) EER KEH FERE R — SR 4+QA EERREREEVY— Ge H23.12.20 | H23.12.20 <83 <80 <84
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HASEHT
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ESiES EEth ~ &R (Ba/kg)

Eth #wm | mEme | e | RS % iy 8 BB Gk BREC R L anmaa [ evane1ae| es-a
RERE=SIVT | (EBR) EER [LEF BT FERE R — KEY RAINL EERERREELS— Ge H23.12.18 | H23.12.20 <15 690 940
RERE=SILT | (EER) EER w|EM FERER — KEY IVAVITAFTAErD) |RERBEREEVS— Ge H23.12.14 | H23.12.20 <13 26 33
RERE=MIVT | (EER) EER HZERT FERER — KEY IVAITATAF D) |[BEREERAEVS— Ge H23.12.15 | H23.12.20 <71 16 24
RERE=SILT | (EBR) EER HZERT FERER — KEY IVAVTATAF D) |[BEREERAEVS— Ge H23.12.15 | H23.12.20 <68 46 48
RERE=SILT | (EBR) EER FHAET | EREH — KEY IVAITATAF D) |[BEREERAEVS— Ge H23.12.15 | H23.12.20 <56 15 25
RERE=SILT | (EER) EER BT | EREH — KEY FYRANIL RERREREEVY— Ge H23.12.17 | H23.12.20 <65 <11 <85
BREHE=4IVT | (BER) EER w|EM FRE R — KEY QAEVHRR EEREERE LS Ge H23.12.14 | H23.12.20 <72 43 59
RAaBE=4JLY | (BER) =mER IREFET AR — KEY JEVHRAR BEEREBEREEVS— Ge H23.12.19 | H23.12.20 <12 240 320
RERE=4ILY | (BER) EER [LEF BT FERE R — KEY QEVHRAR EERERRE LS Ge H23.12.19 | H23.12.20 <11 210 260
REBE=4ILY | (BER) BER FHEET | EREH — KEY =P AV]P ERERREREEVY— Ge H23.12.17 | H23.12.20 <95 220 300
RERE=4ILY | (BER) BER [REFET FETRIE — KEY =P AV]P EERREREEVY— Ge H23.12.18 | H23.12.20 <16 930 1200
RERE=4ILY | (BER) EER = [EET FERE R — KEY RITEIES RERREREVY— Ge H23.12.15 | H23.12.20 <65 <83 <70
RERE=4ILY | (BER) EER HZERT FERE R — KEY RITEIES BRERREREEVY— Ge H23.12.15 | H23.12.20 <81 40 57
RERE=4ILY | (BER) EER [LEF BT FERER — KEY AXF BRERREREVY— Ge H23.12.19 | H23.12.20 <98 150 190
BREEHE=4IVT | (BEBR) EER w|EM FERER — KEY NNHLA(FAEHLA) |[RERBERE LS — Ge H23.12.14 | H23.12.20 <16 18 30
BREEHE=4IVT | (BEBR) EER w|EM FERER — KEY NINHLA(FAEHLA) |[RERBERE LU S— Ge H23.12.15 | H23.12.20 <638 12 14
RERE=4ILY | (BER) EER HZERT FRER — IKEY INIALA(FAEALA) | BERBEREEVE— Ge H23.12.15 | H23.12.20 <718 110 150
BRERHE=4IVT | (BEBR) EER FHAET | EREH — KEY NNHLA(FAEHLA) |[RERBERE LU S— Ge H23.12.15 | H23.12.20 <70 37 52
BREHE=4IVT | (BER) EER FHAET | EREH — KEY NINHLA(FAEHLA) |[RERBERE LU S— Ge H23.12.17 | H23.12.20 <72 46 70
RERE=4ILY | (BER) EER [LEFET FERER — IKEY INIALA (FAEALA) |[BERBEREEVE— Ge H23.12.19 | H23.12.20 <98 100 140
BRERHE=4IVT | (BER) EER w|EM FERE R — KEY ESA EREREREREEVY— Ge H23.12.14 | H23.12.20 <82 46 56
BRERHE=4IVT | (BER) EER FHAET | EREH — KEY ESA EERREREEVY— Ge H23.12.17 | H23.12.20 <63 43 44
BREHE=4IVT | (BER) BER [LEFET FERE R — KEY ESA4 EEREREREEVY— Ge H23.12.19 | H23.12.20 <82 23 23
RERE=4ILY | (BER) EER [LEFET FERE R — KEY ESA4 ERERREREVY— Ge H23.12.19 | H23.12.20 <97 100 120
BEHE=4IVT | (BER) BER [LEFET FERE R — KEY ESA4 EREREREREEVY— Ge H23.12.19 | H23.12.20 <93 97 140
BEHE=4IVT | (BER) EER w|EM FERE R — KEY <aHLA REREREREEVY— Ge H23.12.14 | H23.12.20 <74 33 45
BEHE=4IVT | (BER) EER FHAET | EREH — KEY <aHLA ERERREREEVY— Ge H23.12.17 | H23.12.20 <66 36 48
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BEM

(B5& - 0 T35 7)
EEREST

PIFLAAR

Ge

H23.12.16

H23.12.21

110

RIZIEHEED

BEM

(B5& - 0 T35 7T)
EEREST

FLFE

Ge

H23.12.16

H23.12.21
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JHRET
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H23.12.16
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(B3& - 0 T35 7T)
i N ]

HREF

Ge

H23.12.16
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(BiE - I TIHF)
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Ge

H23.12.15
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(B3& - 0 T35 7T)
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Ge

H23.12.15
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maEm
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Ge
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Ge
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H23.12.21

130

RIZIHEED

fFE
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Ge
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Ge
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Ge
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Ge
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RIZIHEED

(B5& - 0 T35 7T)
BEERSEENT

FLA

Ge

H23.12.16

H23.12.21

&% (Ba/kg)
I9%-131 | £U9h-134 | £ 4-137
<12 52 79
<17 79 100
<42 6.3 <48
<46 <79 7
<12 <20 34
<89 <14 30
<84 14 18
<14 22 35
<12 200 270
<81 56 76
<88 16 21
<15 <96 <81
<64 <10 <89
<59 <94 <67
<60 <97 <47
<92 <14 <1
<12 25 45
<92 <13 <1
<81 13 15
<55 39 59
<19 440 580
<74 12 <93
<60 62 72
<63 39 49
<62 50 57
<58 6.4 1
<55 <83 <69
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